SUMMATIVE ASSESSMENT -1,2017 MATHEMATICS Class-IX

Time Allowed: 3 hours ~_Maximum Marks: 80
(A) Question number 1 to 7 carry 1 mark each (7)
(37 Find the value of K for which the POIYROMIal - 352 4 3.+ K has 3 a5 s sero.
87 Whatis length of side of an isoscelesright Aof hypotenuse 443 cm.

3,-Find the area of right A whose base and height are 4 cm and 3 cm respectively.
4, Find the value of P (-1) when P (x) = 2x3-x + 7., ’

-~ Two supplementary angles differ by 34: Find the greater angle.

6 Write RH.S. congruency of . ¢
6x 3 /\

J1n the figure, find the valué of x

B. Question number 8 to 12 carry 2 markseach [10]
8~ Ralionalise the denominator ﬁ
Find the remainder when P (y) = 4y* - 7y% +3y - 4 is divided by g (x) = 2y + 1
he given figure 5 ¢ <PRO<acs
Show that AB>AC P ‘
~ A
1% InaAABCif CA=52° <B=58" which are the longest and smallest side of the A.
@/Plot the point P(0,4) and Q(-3,0) in the Cartesian plane.
/A s
Section =€
Question number 13 to 21 carry 3 marks each. [9Xx3=27)
13— Draw the graphof 2x+y = 5.

2

14 Find the four rational numbers between ;and% by average method.

15. In right triangle one acute angle s twice the other. Show that hypotenuse is twice the smallest
\/

side.

1
16, fx=3 - 2vZ find the valueof X’ + 5 «
le Is greater than the third side.
43 Prove that the sum of the two sides of a triang
18- In A ABC, AD bisects <A as well as side BC. Show that A ABC is an isosceles A.
The area of an Isosceles triangle is 60 cm? and the length of its equal side is 13 cm. Find its base.
é’ﬁraw a triangle ABC in which BC=7cme€8=30° and AB+AC=10cm.
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@ in the given Figure £ZB>2C and AM is bisector of A and AML BC. o ,ug‘“
A ! .

1 . Lt ¢
Show that ZMAN=> (£B-4() ,
2 .
¢ BE0) <
180 ~(LP+LC) ; B % c

(g0 ",\_.LLPM' a0 "

Question number 22 to 30 carry 4 marks each. [9X4=36}

\32./lf x= J.' ﬁ' andy = g’g then ﬂnd the values of x* + y

\23/( present V9.3 on the number line. Write steps of representatlon
24.-Derive remainder theorem. Find the remainder when (a} 51x — 2) in divided by(x + 1).

25 Factories; 2x* — 3x% — 9x + 10. J Suml_ TUTO RIAL

: 'how that the side opposite to larger angle is longer.
\ 2% Plot that following point in the Carteslan plane
(1,3) (-1,1) (-2-3) (23)

\28. Thesidesofa triangle are in the ratio 3:5:7 and its perimeter is 300m. Find the area and height

drawn on the longest side. \
i ABC meet at Point 0. \)
29, Inthe given Figure the bisector of zBand £C of a A ABC meeta on B e i L’5> p
' '_‘ (i - A )
Prove that ZBOC=90°+; 4 : LB ¢ oal
L LB (/; X L A L )
A e~
i . R \ ¢)
30. ABand CD are smallest and greatest sides of DABCD respectively. \. . Oe 2 %Le
. i
Show that (i) 2A>£C and (li.) LB>4D \/u : : /3_{}5 {»1
: ¥ - o0 S
| 3 AD
| S ‘ o 5 L’L ;
) \ ; \1 \ . O\tl L’:".\L
.-_.__‘.;.-—-'“" o= ; v ! ( l c\c; “
b ' ) " v ) \ \.b o= i}’\c(.
\\ ~ 3 "O‘Q X

http://jsuniltutorial. weebly.com/ Page 2




